Transformations Code Breaking
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y axis or x

T K y=5
O E ® y=4
S o H y=3

w y=2

Q Z y=1
W’ 3x y=0 or x axis

y= -1

B ¢ y= -2

é U O r=-3
Y F y= -4
nox X XX

Starting with the shapes in the first column, perform the
subsequent transformation on them in the grid above. Write
the letter you land on in the 3rd column.

Translate 3 right and 2 down

Translate 3 right

Rotate 90° clockwise about (0,0)

Reflect in y axis

Translate 1 up

Translate 1 right

Reflect in y=4

Reflect in y=0.5

Reflect in x axis

Reflect in x axis

Reflect in y=x (the diagonal line
going through (1,1), (2,2) etc)

Rotate 90° clockwise about (1,0)

Reflect in x axis

Rotate 90° anticlockwise about (0,0)

Translate 3 right and 6 down

Translate 1 right and 1 up

Translate 2 right

Translate 1 down

Reflect in x= -3

Reflect in y=-2

Translate 1 left and 5 up

Rotate 90° clockwise about (4,3)

Translate 1 right and 1 down

Reflect in y=-/

Reflect in x=/

Translate 1 down

Rotate 180° about (-3,1)

Translate 4 right and 1 up

Rotate 90° anticlockwise about (-2, -3)

Rotate 180° about (-3, 3.5)

Translate 1 left and 2 up

Reflect in the line y=3.5

Rotate 180° about (-1, -1)

Reflect in the line x=1/.5

Rotate 180° about (1,0)

Reflect in the line y= -4

Translate 2 left and 3 up

Rotate 90 anticlockwise about (0, 0)
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Translate 2 left and 7 up




